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Exercise

1. Simplify 

Watch Video Solution

( − 24) × ( − 8) × ( − 10)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5xDfUL6UZSG1
https://dl.doubtnut.com/l/_1iMObSxGstWd


2. Which one is greater  of  or  of 

Watch Video Solution

1

3

4

5

1

2

2

5

3. Express 0.01 mm in cms.

Watch Video Solution

https://dl.doubtnut.com/l/_1iMObSxGstWd
https://dl.doubtnut.com/l/_GqLV11Ex5EnU


4. Find the values of x and y from the figure.

Watch Video Solution

5. The length of a flag is 90 cm breadth is 60cm

then find the ratio of length and breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_cAUVjPkKMG5z
https://dl.doubtnut.com/l/_BZkR6iEmTgOK


6. Raju and rani had climbed the  part of

steps of a building then what is the remaining

part of the steps to be climbed.

Watch Video Solution

11th

12

7. Prove that  by using SAS

congruency rule.

Watch Video Solution

△ AOB ≅ △ COD

https://dl.doubtnut.com/l/_BZkR6iEmTgOK
https://dl.doubtnut.com/l/_ros2n2BY6u9J
https://dl.doubtnut.com/l/_5BHKlqOJPRpF


8. The marked price of a book is Rs. 180. In a book

fare 15% of discount allowed. Then what is the

selling price of that book in book fare?

Watch Video Solution

9. Represent 6-2,-7-(-5) on the number line

Watch Video Solution

10. From the adjacent figure find the area of

rectangle ABCD and area of ABC and mention△

https://dl.doubtnut.com/l/_nMFBHT5LutO9
https://dl.doubtnut.com/l/_mJJuhuZaiKDD
https://dl.doubtnut.com/l/_4PYUqC1AAzgu


the relation between them.

Watch Video Solution

11. Verify

Watch Video Solution

−14 × (6 + ( − 9)) = ( − 14 × 6) + ( − 14 × − 9)

https://dl.doubtnut.com/l/_4PYUqC1AAzgu
https://dl.doubtnut.com/l/_vGutZQno9KPp
https://dl.doubtnut.com/l/_upEYqZ75wAAJ


12. Sudha and Ramya are trying to construct 

BAG with measurements BA=5cm, , 

. This can be success to construct it or

not. Give reasons.

Watch Video Solution

△

∠B = 100∘

∠A = 95∘

13.  is this true or false prove it.

Watch Video Solution

1003 × 106 = 109

14. Find T if P = Rs 6500  and I = Rs 455

h id l i

R = 2 %
1

3

https://dl.doubtnut.com/l/_upEYqZ75wAAJ
https://dl.doubtnut.com/l/_aijh7n3mcrbK
https://dl.doubtnut.com/l/_QTny77kjZB3W


Watch Video Solution

15. The sum of three expressions is .

Among them  and  are

two expressions. find the third expression.

Watch Video Solution

9a
2 − 11a + 8

3a
2 + 5a + 2 2a

2 + 6a + 3

16. Find the angles in  if 

Watch Video Solution

△ ABC

∠A = 5∠B and 2∠C = 3∠B.

https://dl.doubtnut.com/l/_QTny77kjZB3W
https://dl.doubtnut.com/l/_qHLEbaNhvwLe
https://dl.doubtnut.com/l/_wld26CrOYRx1
https://dl.doubtnut.com/l/_pNMTZdwXbIit


17. The floor at a school consists of 100 tiles which

are rhombus shaped to practice yoga. The

diagonals of each rhombus are 150 cm and 175 cm.

Find the total cost of polishing the floor if cost

per  is Rs12.

Watch Video Solution

m
2

18. Find the perimeter of the triangle whose sides

are 3a-2b, 4b+5a, and 

b-2a.

Watch Video Solution

https://dl.doubtnut.com/l/_pNMTZdwXbIit
https://dl.doubtnut.com/l/_pygu5jLDQlLV


19. Construct 

/_B= 45^@` and BC= 6cm

Watch Video Solution

△ `ABC ∈ whichAB = 5cm,

20. Draw a double bar graph for the data as per

the details of ward wise polled votes in a village.

Watch Video Solution

https://dl.doubtnut.com/l/_xhBzokrp3ZH0
https://dl.doubtnut.com/l/_U1m0oC6JAX40
https://dl.doubtnut.com/l/_ilIK0P2NmMQX


21. Where does the number  lies?

A. Between 4,5

B. Between 3,4

C. Between 3,6

D. Between 3,5

Answer:

Watch Video Solution

3
4

5

22. Which triangle can be constructed with a

single 

https://dl.doubtnut.com/l/_ilIK0P2NmMQX
https://dl.doubtnut.com/l/_pPRd4lBlinoT


independent measurement-

A. Equilateral triangle

B. Isosceles triangle

C. Scalene triangle

D. Cannot be constructed

Answer:

Watch Video Solution

23. How many  parts in 5?
1

5

https://dl.doubtnut.com/l/_pPRd4lBlinoT
https://dl.doubtnut.com/l/_NEzS4XUyOf0Q


A. 1

B. 5

C. 15

D. 25

Answer:

Watch Video Solution

24. If a= 5, b=2, c=3 then =

A. 

B. 

(a ÷ b)c

25

55

23

53

https://dl.doubtnut.com/l/_NEzS4XUyOf0Q
https://dl.doubtnut.com/l/_8jGX0svc5QDA


C. 

D. 

Answer:

Watch Video Solution

53

23

52

32

25. Rohan went to a school which is 1 km away

from his home. He travelled 0.85 km by bicycle

remaining by walk. Then what is the percentage of

the distance travelled by walk?

A. 0.85

https://dl.doubtnut.com/l/_8jGX0svc5QDA
https://dl.doubtnut.com/l/_eRwegGTr8Jb1


B. 0.15

C. 0.35

D. 0.75

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eRwegGTr8Jb1


26. Choose the Net of given 3D shape

Watch Video Solution

https://dl.doubtnut.com/l/_mIQ8ZSKs0676


27. The order of rotational symmetry of a square is

A. 2

B. 1

C. 3

D. 4

Answer:

Watch Video Solution

28. The dimensions of a cell phone-

https://dl.doubtnut.com/l/_9sISpY4EklXM
https://dl.doubtnut.com/l/_KhBPjeG2PCXI


A. 1D

B. 2D

C. 3D

D. None

Answer:

Watch Video Solution

29. Sum of the complementary angles is-

A. Obtuse angle

B. Right angle

https://dl.doubtnut.com/l/_KhBPjeG2PCXI
https://dl.doubtnut.com/l/_aZWljqKEV1dr


C. Acute angle

D. Reflex angle

Answer:

Watch Video Solution

30. How many times the circumference of a circle 

to its diameter?

A. 

B. 

C. 

π

2π

3π

https://dl.doubtnut.com/l/_aZWljqKEV1dr
https://dl.doubtnut.com/l/_BKluUuhiNcX8


D. 

Answer:

Watch Video Solution

4π

https://dl.doubtnut.com/l/_BKluUuhiNcX8

